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: Note . Four possible choices 4 B, C,D to each question are given. Which choice is correct | fill that circle in front of that question

1 number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark in that guestion.
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i [he most abundant element occurring in the Oceans is (1)

Silicon gk (D) Nitrogen e (O Hydrogen %, (B) Oxygen fr' (A)
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Which one of the following compounds can be separated by Physical means

Radical Ejij(D) Compound J.alf((_) Element u._.......m.u'r(B) Mixture ;f (A)

| How many Isotopes of Hydrogen exists : : u‘ 2y JadyT df L
04 (D 0 (© 02 (B 01 (A)
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ULt patiasl £ b & & Sl (8)
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In Modern Periodic Table, the first Period consists of Elements :

S A o g E 2 nesd S (5)

Huu many Electrons involved in Single Covalent Bond

2 (D) 4 (C. 6 (B) 8 (A)
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Mellmg Point of Sodium Chloride is : e '----""rJ‘Ir—g'L" 1 ..vl.fyblf";r (6)
IIIIIIIIIIII 1000°C (D) 800°C {(Q) ﬁﬂﬂ”c (B} 400°C (A)

:Th:_ Simplest Form of Matter is : L 2l oAl g ”L. (7)

- Plasma i (D) Liquid &\ (C) Gas ¥ (B) Solid U (A)

'Which one of the fol'owing is Amorphous : e S ek ®)

Glucose .u(! (D) ICuS'C)‘1 (C) NaCl (B) Rubber #%, (A)

Mlst is an example of which Solution : : ,T_Jl.f'd/u;}” u'f iz (9)
Ligquid in Gas C‘H e g}f (B) Gas in Liquid L,f“-’-f o ('_j;L (A)
Liquid in Selid dL e J)" (D) Sl}hd m Gas u:‘f o uj (O

Spontaneous Chemical Reaction takes place in ;:‘:..l‘.‘.rr u:f ‘_}':u/ -"fld;;};‘f ﬂh:‘__ﬂﬂl,- i3] (10)
Galvanic Cell J:..E’b‘r (B) Electrolytic Cell b@:/-ﬂ' (A)
Down's Cell S (D) Nelson's Cell J’UJ' (C)

e AT a1 (1)
The Oxidation Number of Hydrogen in Metal Hydrides is :

+1 (D) -1 () +2 (B -2 (A)

Qtr{}ngEbt Oxidizing Agent is : < ._:;,f‘i'.f._f;?'fi_.fT P (12}
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